ggbbobuogoobobodao

[1] 00 Pz, y1,2) 000 Qxa,40,2) 000 00000000000O0000
D00MO0000000000004040k000M

20000 ADBOCOOOOOOOO
A= (A AL A)

B = (B,,B,, B,)
C=(C;,C, 0,

gobobooooboo

() 0000oooo0 A-B OOODOOOO

(2) ADBO tOD0ODDOOOOO0DOOOODOOOOO
d dB dA

“(A-B)=A - — 4+
dt( ) dt+dt

3] 00 04m 00000000000 000000000000000000C
00000000
()000000 (2000 (3)00000 @)oooooooooo

[4]

() 0000 r00D00COO000OO0ODOOO0O0OO-000D000O0O00 »0OO
gooooooog

(2) 000000 0000007 =(rcoswt, rsinwt) 00000000000
b o-00D0O0ODLOODODO eDOODLDOO0O0OOLOOOO0O0 ebbOOUO
doo0-000000000000DO0O0 00X -YOOOOOOODOOOO
goooooooobn

(3)(2)000000000000000D0 » 00000000 eOOOOOOO
guooobbobooobbodoobbboooob - oooobobbbooa
goooooo



